Tutorial 7 Answer

1. 11000000.10101000.00001010.00000000

2. Network Octet : 1,2,3     Host Octet : 4

3. 3 bits

4. 11111111.11111111.11111111.11100000

5. 255.255.255.224

	Usable

Yes/No
	No
	Yes
	Yes
	Yes
	Yes
	Yes
	Yes
	No

	Broadcast Address
	192.168.10.31
	192.168.10.63
	192.168.10.95
	192.168.10.127
	192.168.10.159
	192.168.10.191
	192.168.10.223
	192.168.10.255

	Possible Host IP Address Range
	192.168.10.1- 192.168.10.30
	192.168.10.33- 192.168.10.62
	192.168.10.65- 192.168.10.94
	192.168.10.97- 192.168.10.126
	192.168.10.129- 192.168.10.158
	192.168.10.161- 192.168.10.190
	192.168.10.193- 192.168.10.222
	192.168.10.225- 192.168.10.254

	Subnet

Network Address
	192.168.10.0
	192.168.10.32
	192.168.10.64
	192.168.10.96
	192.168.10.128
	192.168.10.160
	192.168.10.192
	192.168.10.224

	Subnet Mask
	255.255.255.224
	255.255.255.224
	255.255.255.224
	255.255.255.224
	255.255.255.224
	255.255.255.224
	255.255.255.224
	255.255.255.224

	Network Address
	192.168.10.0
	192.168.10.0
	192.168.10.0
	192.168.10.0
	192.168.10.0
	192.168.10.0
	192.168.10.0
	192.168.10.0

	Subnet

Number
	1
	2
	3
	4
	5
	6
	7
	8


7. Interface A : 192.168.10.33  

Interface B : 192.168.10.65

Interface C : 192.168.10.97

Interface D : 192.168.10.129

8. PC1 : 192.168.10.34

PC2 : 192.168.10.98

For PC1 :

IP address 

:
192.168.10.34

IP address (binary)
:
11000000.10101000.00001010.00100010

Subnet Mask

:
11111111.11111111.11111111.11100000

Binary AND

:
11000000.10101000.00001010.00100000

Subnet


:
192.168.10.32

For PC2 :

IP address 

:
192.168.10.98

IP address (binary)
:
11000000.10101000.00001010.01100010

Subnet Mask

:
11111111.11111111.11111111.11100000

Binary AND

:
11000000.10101000.00001010.01100000

Subnet


:
192.168.10.96

9. They are on the same network but in different subnets.

10. PC1 identify the IP address of PC2 and learn that it is in other network. Thus, it will send the packet to interface A of the router. However, firstly it need to get the MAC address of interface A by looking at its ARP table or broadcast an ARP packet to get this MAC address. As the router get this packet, it learns that the destination IP address is on the same network of its interface C. Similarly, it will pass it to its link layer, get the MAC address of PC2 and send it through interface C. Ultimately, this packet will reach PC2.
